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������ ��0

∂v(z)

∂z
= −(R + jωL)i(z), � �!"

= −Zi(z),

∂i(z)

∂z
= −(G + jωC)v(z), � �#"

= −Y v(z),
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Z = R + jωL,

Y = G + jωC.
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 ������
���
 ��� ������
���
� YΔz�

�� �� ������	
� i ��
���� �
�	
���� ����� 	�� ����� �� ��
	��

∂2v(z)

∂z2
= γ2v(z), �����

�����

γ =
√

(R + jωL)(G + jωC),

=
√

ZY , �����

= α + jβ,

�� �	���� 
�� ����������� 	��
���� ����� �
	��	�� ������ ���  	��	��� α �� �	���� 
��

����������� 	��
���� 	�� 
��  	��	��� β �� 
�� �
�
� 	��
���� ����� �
	��	�� ������

! ����
��� �� �
�	
��� ����� ��

v(z) = vfe
−λz + vre

+λz. ���"�

��� �������#
� f 	�� r 	�� ������ ���	��� vf ��#�����
� 
�� 	�#��
��� 	�� 
�� #�	��

�� 	 ����	�� #��#	$	
��$ �	 �% ����� vr ��#�����
� 
�� 	�#��
��� 	�� #�	�� �� 	 �� ����

#��#	$	
��$ �	 �� ����� 	�� �	 � �
�	
���� 
�	
 ��#�����
 �	 �� ��
� �
�	� #��#	$	
���

�#��� �� 
�� ����	�� 	�� �� ���� �����
�����

��� ������
 i(z) ����� 	����#	���� 
���  ��
	$� �	� �� ���� �� ���� �
�	
���� ����� 	��

���"� 
� ��

i(z) = − 1

Z

[
− λvfe

−λz + λvre
+λz

]
.
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 λ �
	� �
����	� ������ ��� 	�����

i(z) =

√
Y

Z

[
vfe

−λz − vre
+λz

]
,

=
1

Z0

[
vfe

−λz − vre
+λz

]
,

=
v(z)

Z0

,

���
�

Z0 =

√
R + jωL

G + jωC
,

=

√
Z

Y
,

����� �� ���� ��� ���
����
����� ��������� 	� ��� ����� ��� ���������� 	� ��� ���� ��

λ =
2π

β

��� ��� ����� ���	���� ��

vp =
ω

β
= λf.
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	��������

������ ���� � �	
��
� �
	�������� ���� ���	����
� � �	��� � �	
��	� 	� ��� ����"�

���
�� �� ���	
��� �� ��� �	��� #����� ��� �
��������	� ���� �� ��
������ �������� �	��

	� ��� ���
�� �� 
�!����� ���$ ���	 ��� ����� �%������ ��� 
�!����� ����� ��� 
�����	�����

������� ��� �	
��
� ��� 
���
�� �
	�������� ���� �� $�	�� �� ��� ������� ��	�
���� 
�
���

���	��� �� Γv�  � ��� �	��� 	� � �
��������	� ���� ��� 
�!����	� ����	
 ��

Γv(z) =
�	����% ��������� 	� ��� 
���
�� �	����� ���� �� z

�	����% ��������� 	� ��� �	
��
� �	����� ���� �� z
.

&	
 � ������� ��
���� �� �������� �� &���
� ��'� ��� 
�!����	� �	�(����� �� 
������ �	 ���

�
��������	� ���� ���
����
����� ���������� Z0 ��� �	��� ZL� ��� �� ���������� �����

Γv(z) =
Z(z) − Z0

Z(z) + Z0

. ���)�
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 ����� �� �
� ���� �� ���������� ���� �
� ��������

���	��� ��� ������� 	���� �����

Z(z)

Z0

=
1 + Γv(z)

1 − Γv(z)
. �����

�� �
�� 	�
 �
� ���� ��������� �� ����������� �
 �
� ������������ ����� �
� �����

���������� ZI �� ��
 ����� �� � ���� ���������� 	��
 �
� ���� ��������� ZL �� ����������

����� �
� �������

ZI =
ZL cosh λl + Z0 sinh λl

Z0 cosh λl + ZL sinh λl
.

�
�� ������ ������� �� � ���� �� ��������
 �����
� ������� ��� ���� ����������

ZLZI

l

Z0

������ ��	
 ��������� ���	����� �
 � ����
��

��� ����� ��� ����� ��������� �
 ��� ����
��

���

����� ZI � �
 ���������� �� ��� ���� ZL ��������� �� ��� ��� �
 ��� ����
��

��� ����� ���

������ �
 ��� ����
��

��� ���� l ��� ��� ����������
��� ��������� �
 ��� ����
��

���

���� Z0�

������
��� ������
��

�
��� �������� ��� ��������� �
 ����������� ���������� �
 �
� �
������������ ���������

�� �
� ������������ ����� �
� ���������� ��������� z ������������� �� �� ������ ���������

Z ��

z =
Z

Z0

.

�
� � ������� ���!� ��� ����� ����� �
�� �������
 ��

Γv =
z − 1

z + 1
,

���

z =
1 + Γv

1 − Γv

.
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�� ����� �� �	
�
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���� �� 
 N ����� �������� 
 ���
�� �� �����
���� �������

�
�
������ 	
�� 
��� ����� �� ����������� �	��� �� �� �����
�� �� �������� ��
���� �	�

����
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�� ����		���� ��	
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� 	��	�� ����������� 
��
���

�	� ����
�� 
�� ������� �
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� ���������

�	��� ��
��������� ���	 �
���

����� ����	
��� 
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	����
��� �
����

�	� N ����� ������� �
� 
� ����������� �� �����
� �
��� �	� ���� ������ ���������
�

����� 
�� �	� �����
��� �
���$ %Z �
�
������&� 
�� 
�����
��� �
���$ %Y �
�
������&�

�	��� �
�
������ 
�� ��'��� 
�(

v1 = z11i1 + z12i2 + ... + z1nin

v2 = z21i1 + z22i2 + ... + z2nin
���

vn = zn1i1 + zn2i2 + ... + znnin

�� �� �
���$ ���� ⎡
⎢⎢⎢⎢⎢⎣

v1

v2

���

vn

⎤
⎥⎥⎥⎥⎥⎦ =

⎡
⎢⎢⎢⎢⎢⎣

z11 z12 . . . z1n

z21 z22 . . . z2n

���
���

� � �
���

zn1 zn2 . . . znn

⎤
⎥⎥⎥⎥⎥⎦

⎡
⎢⎢⎢⎢⎢⎣

i1

i2
���

in

⎤
⎥⎥⎥⎥⎥⎦ .

�	� 
�����
��� �
���$ �� ������ �	� ������� �� �	� �����
��� �
���$� Y = Z−1�⎡
⎢⎢⎢⎢⎢⎣

i1

i2
���

in

⎤
⎥⎥⎥⎥⎥⎦ =

⎡
⎢⎢⎢⎢⎢⎣

y11 y12 . . . y1n

y21 y22 . . . y2n

���
���

� � �
���

yn1 yn2 . . . ynn

⎤
⎥⎥⎥⎥⎥⎦

⎡
⎢⎢⎢⎢⎢⎣

v1

v2

���

vn

⎤
⎥⎥⎥⎥⎥⎦ .
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�� ����������� �	� Z 
�� Y �
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����

��
������ �	�������� 
���	�� ��
�������� ���	�� �� ������ �	
� �� �
�

�� �� �	
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�	 �������	 �
��
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��� �
 ����	��� 
�	 �������	 ��������


�	 �
���� ��� ��
��������� 
� �
�� �
�� 
�� �
�	����	 ����� 
 �
���
�� ���������

����	
���� '� ��
������ ��� ��������� ����	
��� �� �����
��$ ��
��� �
 �� Z0 = ()Ω�

&�� ��
��
�� ��
������� �
�
������ �
� �� ��
����	 �$ ����		��� ��� ����
�� �� 
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� ����� ��
�� ��
�
��������� ����	
��� �� () Ω� 
�	 �
�������� ��� ��	� �
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�
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&�
������� �
��� ����� �
 ��� ���	������
�
�� ������ �
	� �
��� ��
� �
�� ��� �
��� �
�

��
������� �
���� 
�
�$���� *������ ���
�$ �
��	 
� ��
������� �
��� 	�������� ��� ������
�

�
������ �����
���
�� 
� 
 ��
�������
� ���� ������� 
�	 �
� ��	 �
 ��� ��
�	
�	 ����
	
��


�$ 
� �
�	���� +, 
�	 ����
�
�� ��
������ &�� ��
������� �
���� ���
��� ��� 
���
���

�
��� bn �
 ��� ���
���� �
��� an ��
� 
�� ����	��� 
� ��� -��
�� ����
��.⎡
⎢⎢⎢⎢⎢⎣

b1

b2

���

bn

⎤
⎥⎥⎥⎥⎥⎦ =

⎡
⎢⎢⎢⎢⎢⎣

S11 S12 . . . S1n

S21 S22 . . . S2n

���
���

� � �
���

Sn1 Sn2 . . . Snn

⎤
⎥⎥⎥⎥⎥⎦

⎡
⎢⎢⎢⎢⎢⎣

a1

a2

���

an

⎤
⎥⎥⎥⎥⎥⎦ . �/�!#

&�� �
���� �������� Snm� �
� n = 1, 2, .., N 
�� �������	 �
 
� ��� ��
������� �
�
������ 
�

��� 0��
�
������� &�� �
�
������ Snn �
�� ��� �
�� ��
���� 
� ��� �������
� �
�1�����

	�������	 �
������ 
�	 Snm� �
� n �= m� 
�� ��� ��
�������
� �
�1�������

&�� ��
������� �
�� �
��
���� a 
�	 b 
�� 	�2��	 �� ����� 
� v� 
�	 i 
�	 
 ��
���
���	

�
������ ��������� ����	
��� Z0� 
� �
��
��.

a(z) =
v(z) + Z0i(z)

2
√

Z0

b(z) =
v(z) − Z0i(z)

2
√

Z0

,

����� v(z) 
�	 i(z) 
�� ��� �
��
�� 
�	 ������� 
� 
 �
��� z 
�
�� ��� ���� 
�	 Z0 �� ���

��
�
��������� ����	
���� &�� ��������� ��
�� �� ��� �
����
� 
�
�� ��� ��
�������
� ����

����� 
�� ��
��������� 
�� �
	�� ��� �
����
� �� 	�2��	 �$ ��� �
��
��� z�

���� ��
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��
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�� ���
��

�����������	 
�	���
� ��� ����
��� ��
 �������
 ����	 �� �
������� ��		��		 ����	��		���

����	 ��������
 �� ���� ���� �� ��� �������� ���������� �� �	 � 	����� ������ �� 	���� ���

��������� ����� �� ���� ���� 
� ��� 
�	����� l�

��� ������ �� ���������� ����	 �� � ��		��		 ����	��		��� ���� �����	 ��� 	�����
 �������

����	 �� 
� ������
 �� ��� ��	�����
 ������� ����	 
�

an = a′
ne

−jθn

b′n = bne
−jθn ,

����� θ = βnln �	 ��� ���������� ������ �� ��� ������
 	���� �� ��� ��������� ����� �� ����

n� �������� � �!" 
�����	⎡
⎢⎢⎢⎢⎢⎣

b1

b2

���

bn

⎤
⎥⎥⎥⎥⎥⎦ =

⎡
⎢⎢⎢⎢⎢⎣

e−jθ1 0 . . . 0

0 e−jθ2 . . . 0
���

���
� � �

���

0 0 . . . e−jθn

⎤
⎥⎥⎥⎥⎥⎦S

⎡
⎢⎢⎢⎢⎢⎣

e−jθ1 0 . . . 0

0 e−jθ2 . . . 0
���

���
� � �

���

0 0 . . . e−jθn

⎤
⎥⎥⎥⎥⎥⎦

⎡
⎢⎢⎢⎢⎢⎣

a1

a2

���

an

⎤
⎥⎥⎥⎥⎥⎦ .

��������� ��� 	�����
 	��������� ���������	 ���

S ′ =

⎡
⎢⎢⎢⎢⎢⎣

e−jθ1 0 . . . 0

0 e−jθ2 . . . 0
���

���
� � �

���

0 0 . . . e−jθn

⎤
⎥⎥⎥⎥⎥⎦S

⎡
⎢⎢⎢⎢⎢⎣

e−jθ1 0 . . . 0

0 e−jθ2 . . . 0
���

���
� � �

���

0 0 . . . e−jθn

⎤
⎥⎥⎥⎥⎥⎦ .

����� �
� �����

�

#���� ��� ���� ��� n������� �� � ������� ���	� ����	 ��� ���������
 ���� ����
����

Z0� �	 �$���		�
 �� ����	 �� ��� ���������� ���� �������
�	%

Pn =
1

2
|an|2 − 1

2
|bn|2,

=
1

2
|an|2(1 − |Snn|2).

��� ��$���� ����� ���� ��� 
� 
�������
 
� ��� ��������� �� � ��������
 ���
 �	 �����


��� ������
�� ����� �� ��� ���������� P��� ��
 �	 �
�����
 ���� ��� ���
 �	 ���&������

������
 �� ��� ���������� ���� �	� P�� = P�� ���� Z�� = Z∗
�
� '������� 	���� ��� ����������

���� ��������� ���(����� �	 ����� 
�%

Γ =
ZL − Z0

ZL + Z0

,

���� ��



��� �����	
 ��	�
���	�

P�� = P�� ���� Γ�� = Γ∗
�
� ����� 	�� 
���� 

��� �� 	 n�

�� ����
�� 	�� ������	���

�� ����� ��������� ��
��	���� 	 �����	�
� �
������� �
 

�� n ��
�������� Γ�� = Snn�

��� ��
�� ��
��	��� �� ���� �	����	��� ����� ���	��
� ������ �� ��� 
���� 

��� 
� ���

����
�� 	�� �
� ������	��� �� ����� ��������� ��
��	���� Γ�� �= Snn 	�� ���	��
� �����

�� �
 �
���� 	

�

��	���  �����
��� �
 �
�!� ���� 
�
"��� ����� ��� ��	����	� ��	!������

�	!� #�
	�	������� ����	� $
� ��	
�� ���� "� ���� �%
&	� '(()��  ��� �� 	 !��* ����

�
������� 	

�
	�� ��	� ��
�� �� �
�
�����* 	� ��� ���"�� 
� 

��� �����	��� + �
��

�
�!������ �
����
� �� �
 ��
������ ��� �*���� ����� ��	������� 
	�	������ ���� 	 ���������

��
��	��� 	� �	�� 

�� ���	� �
 ��� �
	� 
� �����	�
� ��
��	��� 	� ��	� 

�� Z���,n�

����� ������	
�
�� ��

������
�

��������	
�� 	�� ����	� �
�"��	��
�� 
� ��	!������ �	!�� ��	� 	�� �
������� �
�!������

�
 ��� �� 
��� 
� ��	!������ �	!���  ���� �	� "� ���������� �
 	� 	�"���	�* 

�� ��
��	���

�
� ��� �� 	 ����� �	��� 
� 	

���	��
��� ,���
� ����
�� 	�	�*��� �	��"�	��
�� 	�� ��	�

��������� �
� ��	�
�� 	�� ����!�� ��
� 
����
��	!�� �-	��� 	�� �����	�� '((.� /�����*

'((0� -	��� �� 	�� '((1��  ���� 	�� �
�� �

���* "	��� 
� ��� ������
�	������ ������

	���
�� ��	� ��	!������ �	!�� "�� 	�� 	 
�	����	� 	"���	���
� �
� ��	�������� 	�� 
����


��

����

 �� 
����
��	!� ����
� �� ����!�� ��
� ��� 
�*���	� ��	!������ �	!� 	�	�*��� 	�� �	�

��� �	!� !	��	"��� ��
������ 	�2

a(z) = K

√�(Z���)

2|Z���| (v + iZ���)

b(z) = K

√�(Z���)

2|Z���| (v − iZ���)

����� �(Z���) �� ��� ��	� �
�

���� 
� ��� ��������� ��
��	��� Z��� 	��K �� 	 �
��	������

���� ��
������ 
� �
� !
��	�� �� ��	����� 
� ��� ��	�������
� ���������� 	�� �� ����*

�
� �
�� �	����  �� ��	� 
	�� 
� Z��� �� ���������� �
 

����!� !	�����  ��� ������� �� ���

��$����
� �
�3������ 	�� ��� ��!����� "���� �	����	��� ����� ��� �
����	�2

Γ =
ZL − Z���

ZL + Z���

,

Z = Z���

1 + Γ

1 − Γ
,

����� "
�� 	�� �������	� �
 ��� ��	!������ �	!� �	���

���� ��



������� � 	��
��
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�
 �

� � ������� 	�����

�� �� �������	 
�� �����
	 ��	��� �������	�	�� �� ������� ��	���	��� ��	��	� ���� � 
��

�����	� �	
	�	��	 ���	����	�� ���� �	��� �� ��	 �	�� ���� �������
	 	���	����� 
�� ��	

�	��
	�	� ���	� ���� � ����� 	���	��	� ���

P = |a|2
[
1 − |Γ|2 − 2	(Γ)

	(Z���)

�(Z���)

]
,  !�"#

��	�	 � �	���	� ��	 �	�� ������	�� ��� 	 �	���	� ��	 ��������� ������	���

$��	 ���� %������	�	�� ��	 ���	�	��	�� �
 �	
	�	��	 ���	����	 ����	 ��	� �	�	�� ���	��

�� ��	 
�����	 ��� ����	�� �� 	��� ����� &���	 � �	����'(� �������	�	�� 
��� �	�	�����

�� 	��� ����(� �	
	�	��	 ���	����	� ��	 %������	�	�� ���� ��� 
���� )��
	������ �	��		�

��	������
	 �������	�	�� ��� %������	�	�� ��	 ��
	��	� �� ��	 
�������� �	��������

S = U(Z − Z�)(Z + Z�)
−1U−1,

Z = (I − U−1SU)−1(I + U−1SU)Z�,

��	�	

Unn =

√�(Z���,n)

|Z���,n| ,

Unm = 0 
�� n �= m,

���

Zr,nn = Z���,n,

Zr,nm = 0 
�� n �= m.

��	�	 	*������� ��	 	��	��	� �� 	���	�� ��	 ���	����
	 �������	�	�� �� �	��� �
 �	�

�	
	�	��	 ���	����	��

S′ = P−1(S − γ)(I − γS)−1P,  !��+#

 !���#

��	�	

Pnn =

√
�(Z′

���,n)

�(Z���,n)

∣∣∣∣Z′
���,n

Z���,n

∣∣∣∣ 2Z���,n

Z���,n + Z′
���,n

,  !��,#

Pnm = 0 
�� n �= m,

���

γnn =
Z′

���,n − Z���,n

Z′
���,n + Z���,n

,

γnm = 0 
�� n �= m.

-	�	 ��	 �������� �������	�	�� ��� �	
	�	��	 ���	����	� ��	 �	���	� �� S ��� Z��� ���

��	 �	� ��	� �� S′ ��� Z′
����

���� ��
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����� ����	�
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��� �������	
��
��� �
� �������
��� ��
���� 	� ���� ������� ������� �� ��� ������� ��

�����
� ���
� ��� �	
� ���
 �� ��� ��
�� 	
 � ����	�
��� ������ �� � �	���	� ���� ����	
����

� ���
��	��	�
 �	
� �� ��� ��� �
� 	� 
�� ������� �� ��� ���������	��	� 	�����
�� �� ���

�	
�� ���
 	� ��� �	���	� ��� 
� ������ �� ���� �
� 
���� �������	
� 	
 �����	�� �	����	�
�

���
� ��� �	
� ���� �� ��
�	������

�
 ��
����� �� ���� �������
���� �
� �������	
� 
����� ��
���
���� �� 
�� �������
�

��� ����������
��	� 	
������	�
� �� ���� �
����� ���� ��� ���	��� �� 	� ��� �������� �
�

�����
�� �����	���� 
	�� ��� 
���� ��� ������� �
�

� �	�� �������
����� ��� ��
���


���� ���� ��� �� � ���� ������
�� 	�����
��� ��
���� ��� 	���	���	�
� ��� ��	�� �	����
�

� �����
� !"#$%�

����� 
�����	�� ���	����� ��
 
� ��
��� �� 	
��������� �� 	
���	
� �
� �����	
� 
����

���� ��� �
� �	��� �� ��� �
������� &�
���� ���� ���� � ��
��
	�
� 	
���������	�
 	


����� �� ��
�� ���
���� �
� �	���	�� ��� �'�����	�
� ��� ��� ��
�� ��	
�� ��� ��
�� 
���

��
������ �'������� ��� 	
�	��
� �
� ��(����� 
�����	�� ���	����� ��)

a(z) =
1

2
√�(Z���)

(v + iZ���)

b(z) =
1

2
√�(Z���)

(v − iZ∗
���

).

��	� ������� 	
 ��� ��(���	�
 ���*�	�
� ��	
� ���������� ��	
� ��� �������)

Γ =
ZL − Z∗

���

ZL + Z���

.

+��� ��� �����
�� �� ��� ��
,����� �� ��� ������
�� 	�����
��� �
 ��
����� �� �������	
��


���� �
� �������
����� ��� ��(���	�
 ���*�	�
� ������� -��� 
��
 ZL = Z∗
���
��� ����

���' ������� ��� 	
����� �����	�
 ���� �� ��������� ��� ���� 	�����
�� ���� Γ 	� � �	����

���� �����	�����)

ZL = �(Z���)�(z) + j(�(Z���)	(z) −	(Z���)),

z =
1 + Snn

1 − Snn

.

.� ������ ����	��� ��� ���	����� ��
�� 	� �'������� ���� �	���� ��)

P = |a|2 − |b|2.
/�
����	�
� �� �
� ���� 0����������� 	� �����
�� �� ��� �����
	
� �����	�
�)

S = F(Z − Z∗
r)(Z + Zr)

−1F−1,

Z = F−1(I − S)−1(SZr + Z∗
r)F,

���� ��



������� � 	��
��
��
�
 �

� � ������� 	�����

�����

Fnn =
1

2
√|�(Z���,n)| ,

Fnm = 0 ��� n �= m,

��	

Zr,nn = Z���,n,

Zr,nm = 0 ��� n �= m.


����
 ����� ��������� ���� ���� �����	�	 �� ������� ��� ����	� ���� ������������ ��

����� �� ��� ��������� ����	�����


S′ = Q−1(S − Γ∗)(I − Γ,S)−1Q∗,

�����

Qnn =

√∣∣∣∣�(Z′
���,n)

�(Z���,n)

∣∣∣∣Z���,n + Z∗
���,n
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,

Qnm = 0 ��� n �= m,
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Γnn =
Z′
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Z′
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,

Γnm = 0 ��� n �= m.
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	� ZO =
√

R1R2 − X2�

X1

R1

R +j2 X2

������ ��	
 �������� �	
�� �
 ��� ������ ��	��
��� ��
��
������ ��� ������ ��	��
��� ��
��
�����

�
���� �� ���� �� �
��� ������� 
�� ��� ��	��
����� ��� �
����� 
��
 ����� ���

�
��� �
 ��	�� ��	��
����� Z1 = R1 + jX1� ��
� �
� �� 
������� ����� 
 ������

��	��
��� ��
��
����� ��������� �� 
 ��
� �
 Z2 = R2 + X2j� ��� �
����� 
��


�� ������ 
 ������� ���������� ��� ������ 
�� R2 ± jX2� 
�� ���� ��
� R2� ��� ���
�����

�
����� 
��
 �� ������� �
 ��� ������ 
�� ���
��� ��
� R2�

���������
��
� ���
���
�� ��������

�� ��
�� �� ���	�������� �����	��� �����
 ��� �����
 ������

Γ1 =
YO − Y1

YO + Y1

,

Γ2 =
YO − Y2

YO + Y2

,

���� ��



��� ������	
� ���

�	� ���
����

��������	 
��
�� ��� 
��
�� ������ Y1 = G1 + jB1 ��� Y2 = G2 + jB2� ����������

Y 2
O =

G2(G
2
1 + B2

1) − G1(G
2
2 + B2

2)

G1 − G2

,

�������	 ��������	 
��
�� ��� 
��
�� �� ��� 	��� ��� �� ����� ��� ���� ��� �� l�

! 	������� �"�	�	 �#

G2 > G1 ���
G2

|Y2|2 <
G1

|Y1|2 ,

��

G2 < G1 ���
G2

|Y2|2 >
G1

|Y1|2 .

$��	� ��� ��� 	��� 	�������	 �	 #�� ��� ��������� ��	� ��� ���� R �������� �� G� ���

X �������� �� B�

����� ������	
����
 ���
��
�
 ���
	����
�	

$�� 	����	 ��������� ����	#�����	 ��	������ ���%� �����%� �� ���������� ���������

����� #�� � ������ #�������� ����� &����'	������ ��������� ����	#�����	 	��� �	 ���

(����	��% ��� �������� ��������� ����	#�����	 
������� 
)��� *��� 
)�+�� ���	�	� �#

� ������ �# ����	��		��� ���� ��� ��	 ��������� �� 	����	� $��� ���� ��� �	 � ������		

,����� ����� ���� ��� �� �	 � ������� ��%���� �� �� ��� ������ #�������� �# ��� ��		 �����

$�� ������ �# 	������	 �	 ������	�� �� �����%� ��� ��-������ ���.����� �� ������	� ���

��������� �# ��� ������� ������/�

$�� �������� ��������� ����	#����� �	 ��������� ���� ���	 ����	 ���� ��� ��������� �#

���� ������� ��%���� �� 	� ���� �	 ���	�� �� ������	� ��� ���� � �� ��-������ ���.�����

������ ��� ������ #��������� 0��� ������	�� ������ �# ���� 	� ����	 ��� ��-������ ���.'

����� ���� �	 ���� 	����� ��� �����#��� ��� ��������� ����� ��� ��������� �	 �����%���

!� �"����� �# ���� #��� ��� 	�" 	� ���� ������� ������/	 ��� 	���� �� 1� ��� ���


2����� 
)�3� *��� 
)�3� *��� 
)�+� 4������� 
)�)�� 4������� 
)�)�� 4������� 
)�3��

!	 �"������� ��� ��-������ ���.����� ������	 ���� �# ��� ������ ��������� ����������

�� 5( ��� ����� ��� ������ #��������� $��	 �����	����	 �� ���� ��� ���� 	� ���� ��� ��

������	 ��������� ��������� 	����� ��� ���� ��� ���� 	� ����	 ������ ���# ��%���� ���

! (����	��% �����'	������ ��������� ����	#����� ��� ���%��� ��� �� ���������	 ���� �

�������� �����'	������ ��������� ����	#����� #�� ��� 	��� ������ �# ����	��		��� ����
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	 ���� �
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 ��Ω� ��	 ���
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����� �� ��	 ��������
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 ����	
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��
�� �� ����	�	
 �� ��	 	��	��	
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	  �! ����� ��	 ��
������ �� �
���������� ���	 ���
���	
����� ���	
���	

����� ��	 �	���� �� ��	 ��
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���	 �
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�" ����� ��	
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��
�� ���
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 ���	�	���� �	������ �� ���
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� ����1 �� 
�%��
 �� �
� ������ �� �������� ��
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� ��� �� ���
 ��2������ �� �&��� �� (ZL − Z0)/(ZL + Z0)�

����� �����	
�� �	��
�

3
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 ������������� &������ ���������
 ����
���� ������������ �4
���� � ���
�

���� ���&����� ��������� �� ��������� 	���
 �4
����� � 
��
 ���� ���&����� ��������� 5�

����
���� ����� �� � �����
 �
������������ ����
���� �
���� ����� �
� �����
 �� �
�

������������ ����� ���������� ��� ���� ����
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� ����� ��������� Z0(z)� �� ����
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 �
 ���
�	�����
 ��
� ������"
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���
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� ��� ��
��� �� ��� ����� �	
���
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����	���� ��������  �!

������� ����� ��� ��
������ �	
����	�
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�	��� �� #������ ������
��� ������
� ��

�
��������

������ ��� ��	
 ��
�� ���� ������� �� ������������ ������������� ����� ����� ���

!������ ��
�� "� #����	 �� ��$ ����� ����� ���� �� %�&	�� �$�$ '� ��� ���&�� �� ��� �����

�� ���&�� ��� ��� ��� ���(	���) �	� �
 �� ��� �#�������� � &��� #���� ���� *� �����+��

	���& � ������ ��)����� ����� ���+��& Z0(z) �� *� ��,��� *) ��� ��)����� ���������� �� ���

�����#������ ����$

�� �-��������� �#������� ����� �� � ����.��+����&�� ����� �� ��� ������ ���(	���) ��

���������� ����� �#������� +����� �� �� �-��������� ������� *������ ��� ���� ��� ��	���

�#�������$ /�� �-��������� ����� �	������ �� �-������� *)0

Z0(z) = Z0e
az,

�����

a =
1

L
ln(

ZL

Z0

).

/�� �-��������� �#������� ����� ���� ��� ��+� � ���� �� �������������� �#������� ��

��� *�&�����& �� ��� �� ��� ����� ���	���& � �#���� �����#������ ����$ /�� ,��� �	��

������� �� ��� ���(	���) ���� � ��+����&�� ����� ��� ���&�� �� ��� �����$ /�� ��#���

����� �	������ �� ��� �-��������� ������ �*����� �� ����� �� �������������� �#�������� ���

���+������ ��&�.���� ���������� ����	�� � ��#��� ��� �
����+� ����������$
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 ��	���� ��	��� �������	
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���	 �
��� �
 �����

�� ��&

Z0(z) = exp
(1

2
ln(Z1Z2) +

1
2
ln(Z2

Z1
)

cosh(A)

(
A2φ(

2x

L
, A)

))
,

�����

φ(z, A) = − φ(−z, A) =

∫ z

0

I1(A
√

1 − y2)

A
√

1 − y2
dy,

��� |z| ≤ 1� 
	� I1 �
 
 !�
� ����� ����!�� '�

�� ��	����	 �� ��� !�
� (�	�� 
	� A �


�
����
��� �
�	�&

cosh(A) =
ΓDC

Γmax

.

��� �
�
����� A ��!	�
 ��� ��)���	�� ������	 ��� *+ ��"�����	 ���#���	�� ΓDC� 
	� ���

�
����� ��"�����	 ���#���	� �	 ��� �
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�� ������� ��� ��� ����
�� �������

��� ��
�� P (X, Y ) ��� ��� ��� ������� ��� ��
�
� ���

−−→
F1P + W + N sin(α) = F + W0, ��� !
−−→
F2P + W − N sin(α) = F + W0, ���"!

���

−−→
F0P + W = G + W0, ���#!

�����

(
−−→
F1P )2 = (F cos(α) − Y )2 + (F sin(α) − X)2,

= F 2 + Y 2 + X2 − 2FY cos(α) − 2FX sin(α), ����!

(
−−→
F2P )2 = (F cos(α) − Y )2 + (F sin(α) + X)2,

= F 2 + Y 2 + X2 − 2FY cos(α) + 2FX sin(α), ���$!

���

(
−−→
F0P )2 = (G − Y )2 + X2. ���%!

&� ������
�
�� N � X� Y � (W − W0) ��� G �����
�� �� ��� ��
�� ������ F � ��� ������
��

���������� ��� ��'����

x =
X

F
, y =

Y

F
, n =

N

F
,

g =
G

F
, ��� w =

W − Wo

F
.

(�� 
�����
��
� �� �
�� ���� ��'��

a0 = cos(α), ��� b0 = sin(α).

)����
�� ��� ! �� ���#! ��
���

−−→
F1P

F
= 1 − w − b0n, ���*!

−−→
F2P

F
= 1 − w + b0n,

���� ��



������� � 	
���� 
��� 	�����

���
−−→
F0P

F
= g + w. �����

	
���
�� ����� �� ����� ������

(
−−→
F1P )2

F 2
= 1 + y2 + x2 − 2a0y − 2b0x, �����

(
−−→
F2P )2

F 2
= 1 + y2 + x2 − 2a0y + 2b0x,

���

(
−−→
F0P )2

F 2
= (g − y)2 + x2.

�� ����
�
�� ��� ������
��� ����� �� 	
���
��� ����� ��� ������

(1 − w − b0n)2 = 1 + y2 + x2 − 2a0y − 2b0x,

1 + w2 + b2
0n

2 − 2b0wn − 2w = 1 + y2 + x2 − 2a0y − 2b0x. ���� �

!
��� ��� �" �#
� ����� $�
��� ��� ������� �������
����� ����� �� ������ �#
�� ��� ����

�������� ���� ���� �� �������
���� %��������� 	
���
�� ���� � ����
�� ��������� ���

��� �� ��$������ 
��� �&� 
���$������ �
���
��� 
� x 
� ��$����� �� −x ��� n �� −n� '��

�
���
�� �����
�� ���� ��� $�&��� �� x ��� n &�
�� ��� ����� �����
�� ��� �(�� ������

%���������

− 2b0n + 2b0wn = −2b0x,

x = n(1 − w), ������

���

y2 + x2 − 2a0y = w2 + b2
0n

2 − 2w. ����)�

	
���
��� ����� ��� ����� ��� �� ����
��� 
� ��� ���� &�� ������
�� 
�

−−→
F0P

2

F 2
= (g − w)2 = (g − y)2 + x2,

���

y2 + x2 − 2gy = w2 − 2gw. ����*�

�� ��������
�� 	
���
��� ����)� ��� ����*�� ��� �����&
�� �����
�� 
� ���
(���

y =
b2
0n

2 + 2w(g − 1)

2(g − a0)
, ������

���� ��
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��������	 
��

� ��� 
��
�� ��� 	��	������� ���� �������� 
��
�� ��� ��� ��	������ ���������

�������� �	 	����� �� ��� w� ��� ��������� �������� �	

Aw2 + Bw + C = 0, 
��
��

�����

A = 1 − (g − 1)2

(g − a0)2
− n2, 
��
��

B = −2g − n2b2
0

g − 1

(g − a0)2
+ 2g

g − 1

g − a0

+ 2n2, 
��
��

C = − n4b4
0

4(g − a0)2
+ g

n2b2
0

g − a0

− n2. 
��
��

� �����! ���� ��� ���	 ��� "�	� #�		 �����!� ��� ���!��$ ��� ����� �% w ��� �� ����������

�	��! ��� %��"����

w =
−B −√

B2 − 4AC

2A
(g ≥ a0),

w =
−B +

√
B2 − 4AC

2A
(g < a0).

���	� ��������	 ���� ���� %������ 	�"#����� 
&���!� �� ��� 
'��$ &���!� �� ��� 
'��� � 

	�����! ����

B2 − 4AC =
b4
0

(g − a0)2

(
1 − n2

)(
n2

1 − n2

)(
n2

2 − n2

)
,

�����

n2
12 = 2

g(1 − a0) + (g − 1)2 ± (g − 1)
√

(g − a0)2 + b2
0

b2
0

.

(�� ��� )��"�� ��������	 ��  ���� ���� �����	 %�� x ��� y$ B2 − 4AC ≥ 0� ���	 ����	 ��

��� ��	��� ���� 0 ≤ |n| ≤ "��(1, n1, n2)�

*��� ��� ��	�!� #���"����	 α ��� g ��� ���	��$ w ��� �� ��"#���� �	 � %������� �% n

%��" �������� 
��
��� ���	� �����	 ��� 	��	������� ���� ��������	 
��
+� ��� 
��

� ��

�����"��� x ��� y�

���� ��	� ���
�
��� ��� ��
���

��� ���, �% )��"�� ��� ������ 

'�-� 	�!!�	�	 ���� ��� ���" #���	 	����� �� #�	�������

�� ��� %���� ��� �� ��� ��	���� ���" #������! ��!�� θ %��" ��� �.�	� ��� �����	 �% ���

%���� ��� �	 ���������� �	��! ��� ��������

R =
(Fa − G)2 + F 2b2

2(G − Fa)
. 
��
'�

���� ��
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PBP (X, Y )
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R

G− R

H

F

������ ��	
 ����� ��� ���	�
��� 
�� ��
	�� ����
���� �� ��
 ����� 
�� ����� �� 
�� ����� ���

������
��� 
�� 
���� ������
 ����� ����
�� 
�� ����� ��� �� ���	���� ������ 
� �� � ������

������
��� ��� 
���� ����
�� 
��� ����� ����� 
�� ����� ���� PBP (X, Y )� ��
� ������ R�

���
��� �� 
�� ����
 G−R ���	 
�� ������� �� 	��
���� ���	 ���
� ��� ��� 
���
��� ��
�

� ��		�� ����� ����� ���
��� 
�� ����
����� ����� ����� 	��
 �� ����� 
� ���� ���	

���
 �� G − H�

��� ���� ��	
� �	� ���
�� �
 �� ����� θ �	�� 
�� ���� ��� ����
� H �	�� 
�� �	���� ��

����� �� ����	� ���� ��� ����
� H �� ����� ����� 
�� 
	�������
	�
 ��� �� 
������� �	��


�� 
	������ ��
� ����� R� H� ��� G − R� ��� ����
��� ��

H =
−Bf +

√
B2

f − 4AfCf

2Af

, ������

���	�

Af = 1,

Bf = −2(G − R) cos(θ),

Cf = G2 − 2RG.

���� ��



��� ������	
��
 ���
�� ����


��� ������	
��� �
 ��� ��
� ����� PBP (X, Y )� 
�� ���	 
��	� ���	�

Xf = H sin(θ),

Yf = H cos(θ).

������
���	� �	�����	� ��
� ��	������� 
������� ���	� �����	
���	� �
 ��
��� �������

��
� 
�� ��
�� ���� �
�� ��� �
�� 

������ ��
�� ��
���	��� ���� �� 
������� �� 
���	�

���
� ��	�� �� �
�� ��
� ���� �� ��
� ��� �
�� ��	��� 
��� 
	� �	��� ���� �� ��� �����	

�
 ��� ��	� �� ��	��
	�� ��� ��
� ���� ���
� ��	� ��	��� �� �
����
��� ���	� ��� 
�����


Wf = G − H.

����� ����� 	
 ��
�����
� ��� ���� �����

��� ����
	 ��	� �������� �������� ��� �
�
������ ��
� 
�� �
���� �	 ����� �� 
������

�����
� ��	� �����	� ����� �
�
������ 
�� α� β� f � g 
	� n���� ��� �
�
����� n���

�� ���	�� �� ��� ���� �
 ��� ������� 
�������� ��� ���
�	�	� �
��
���� 
�� ��������� ��

�	���� ��
� ��� ��	� �� ��
���
��� 
	� ��� ���
���
	�� �� �
��������

����� �� g

��� �
�
����� g ��
	��� ��� ����
	�� �
 ��� ��	��
� 
��
� ���	� 
��� ��� �����	 �
 ���

��	�� ��� 

���� g �������	�� ��� ����	� �
 ��� 
��
� 
�� ����
����� ������  � !
" ���#�

��
� �	���
��	� g ������� �	 ����	��� ����
���� �
 ��� 
��
� 
�� 
	� ������	� ��� ����
����

�
 ��� ��	� ��	����� $��	 �������	� ��� �
��� �
 g� ��� ����
�� ��
� �� ��� ��	����
���	

�
 �
�� ��	��� ������ 
�� 
�� ���	�� �	 ��� 
��
� 
���

��� ����
	 ���
���	� ������ �	 
 ��	� #��� ����� ���
��� 
��
� ���	�� 
� F0� F1 
	�

F2� ��� ���
���	� �� 	�� �����
� 
	 ������� �
��� �
 g ��
� ��	������ ��� �
�� ��	���


����
���	� �	 ��� 
��
� 
�� ���#��	 ����� ���	��� ����
	 ���� ��� ��
�� ����� 
	
�����

�
 ��� ���� ��	� �� ������� 
	 ������� �
��� �


g = 1 +
α2

2
. ! �%&"

����
	 
	� ���	�� !&'()" ����	���
��� 	������
��� ��
� �
�� ��	��� ������ �
 ���� ��
	

±0.0001F �
	 �� 
������� 
�� 
 ������
����# �
 ± )*◦ ���	� |n| ≤ 0.53� α = )+◦� 
	� g

�
����
��� #��� ,��
���	 ! �%&"� ���� !&'*+" ����	���
��� ��
� ��� ��	� �� �
�
��� �
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���� ���� ����� �� �	
	����
 g� 
�� �	
	����
 g ������ ��� ����	��� �� ��� ����
	� ���	� ����� �
��

��� �
����� ������
� �	� ����� ��� ����� �� �	
���� g �� ��� ���� ������
 	�� ������
� ���

����� ��� ����� �� ��� ���	� ���� ������� �� ��� ����	� ����� 
�� �	
	����
� ���� ��

����
	�� ����� ���
�� 	
� g = 0.866, 1, 1.137, 1.25� α =  !◦� 	�� n��� = 0.6� "��� ����

������
 ��
��� 	�� ���	� ���� ������� 	
� ��
�	����� �� ��� ���	� ������ F �

�������� ���	
����� ���
� ���� ������ �� ����� �� ��� ���
��
���� ���
�� ��
 ������

������ ���
 ��
���� ����
���� �� ���� ��� ����� ���� ��� �� ���
 �� ���� ��� 
����� ���
�

���� ��� ���
��
����

� ���
������� � ���� ����� ����!��� �" � ��
��� �" ����������
 ������ �#
��� ���$� ��������

���� ��� � ��
�� g �� ����� �!%

g = 1/ cos(α). �&�$$�

#
��� ����$� ������
�� ���� ���� ���� ������ �� ����������� �" ��� ��
� 
������
� �6×10−4�

��� ������ ��
�� ���� ���� �" g = 1� '� ��
 ������ ��� 
�
� �� ��� ����� "�� g ��������


�! ���
�� �� ()������ �&�$���

*����� ���+ ��� ���� ������
 ��� �� ���� ��� ������ �" g ��������
 �! ���
�� ��
 ������

������ ��
 #
��� ����$�� ,������% �� �-������ 
����
 �� .�
 ��� � ��
�� ����� �" g "��

��! ����� �" α ��
 f ����
 �� �� �
 ������ ������������ �� ��� 
����� �" ��
� � ������

������� ���� ���� �� 
�������
 "������ �� #������ /�$�

����� 
� α

��� ����� ������� ��� ����� "����  ����� ��
 ��� ������ �� 
�.��
 �! α� ��� �������� α

�� ��������! �����
���
 �� 
�.�� ��� .��
	�"	���� �" ��� ���
�� ���� ������� �����������

���� ��



��� ������	
��
 ���
�� ����


�������� ����	
� �
� ���� ���
�� ������� ���� α� �
� ���� ����
�� ��� ��
����
� 
� α ��


�����	 �� ��� �������� ������������ 
� ��� 
��� ��	 ��� ������� ��������
� ���
��

������ ������ ��
�� ���� �� α �� ��������	 ��� ��	�� 
� ��� 
��� �� ��������	� ��� ��
���


� α �
�
 ���
��
� ������ ��� 
��� �
��
�� ��	 ��� 	�
�� 
��� 
������

−1 −0.5 0 0.5 1
−0.2

0

0.2

0.4

0.6

0.8

1

1.2

← α = 25◦

← α = 40◦

← α = 60◦

← α = 30◦

X Dimension normalised by F

Y
 D

im
en

si
on

 n
or

m
al

is
ed

 b
y 

F

Focal arcs

Lens contours

Antenna aperture

��� ������	
�� ��

 ��
���� �����
�

−0.4 −0.2 0 0.2 0.4 0.6
−0.2

−0.1

0

0.1

N normalised by F

W
 n

or
m

al
is

ed
 b

y 
F

��� ������	
�� ����� �	
� ��
���
�

���� ���� ����� �� �	
	����
 α� 
�� �	
	����
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